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2012.01.09
N AME 7T)h 1 |GROSS| HDCP NET R AN K
A 35BH 38 37 75 4.0 7.0 & B
& ®= 42 A 83 | 12.0 71.0 = #EERH
tE 5 38 39 77 5.0 72.0 34z
h¥ B3 42 A 83  11.0 72.0 Az
= B 39 40 79 6.0 73.0 Yivi
&k IERI 48 4 80 | 16.0 73.0 641
Ek —#t 44 40 84  10.0 74.0 141
E P NI/ 43 4 84 | 10.0 74.0 811
B BT 46 42 88 | 13.0 75.0 9L
fI EA 43 42 85 9.0 76.0 10z
Bl EZ 43 47 90 | 14.0 76.0 1141
w® B= 42 40 82 5.0 77.0 12431
FE &R 43 40 83 6.0 77.0 13431
ME 48 46 94 | 17.0 77.0 14451
WRER FE 42 45 87 9.0 78.0 1543z
BAX BE 48 46 94 | 16.0 78.0 1643z
e g A1 47 88 | 10.0 78.0 1741
Wil R 42 47 89 | 11.0 78.0 184
ERE BA 43 43 86 7.0 79.0 1961
ZR FH 46 43 80 | 10.0 79.0 2043z
FOEX 45 A 89  10.0| 79.0 21431
E% XA 53 47 | 100 | 20.0  80.0 22431
MR BH 50 45 95 = 14.0| 81.0 23431
mA EIH 50 45 95 = 14.0| 81.0 24431
mR EZ 47 51 98  16.0 82.0 25431
FEH —Ef 43 52 95 = 13.0| 82.0 26431
AR FHH 44 51 95 | 10.0  85.0 27451
HE R 55 50 105 | 14.0 91.0 28431
A B5E 64 51 | 115  16.0| 99.0 29431
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2012.01. 09
N AME Tk 412 |GROSS HDCP | NET | R A N K
=X EH 57 66 123 | 16.0 107.0 304z
A RAHR 0 0.0 99.9 N R
=F ZFH 0 0.0 99.9 N R
Ba[&R  Z5h 0 0.0 99.9 N R
®E —X 0 0.0 99.9 N R
BH &= 0 0.0 99.9 N R
TR B—H 0 0.0/ 99.9 X




